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Corrigé

Part 1: Reading

1- (2)
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2- (3)

a-The writer defines child labour as the employment of children in any work that deprives children of

their childhood, interferes with their ability to attend regular school, and that is mentally, physically,

socially or morally dangerous and harmful.

b-Children workes in agriculture, home-based assembly operations, factories and mining during the

19th and 20 th centuries.

c-The causes of child labour in developing countries are poverty and poor school opportunities.

3- (2)

a-§1

b-§4

4- (1)

This practice ( §1) child labour They(§3) children aged 5-14

B-Text Exploration

1- (1.5)

prevents=deprives (§1) chances= chances(§3)
2- (2)

disintegrate-unemployment-illegetimate- deregulation
3- (1.5)
B-It’s high time authorities took care of homless children.
B-They wish children had a special legal protection organization.
B-Criminal organizations are exploiting young employees.
4- (2)
1 2 3 4
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Part 2: Written Expression

Topic1 - content : 3 form:2

Topic2 - content : 2.5 form:2.5




